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Charlson’s score (Bl{E®R A7)

Table 1

Weights of clinical conditions referring to secondary diagnosis, considered in the Charlson comorbidity index.

Weights Clinical conditions

1 Myocardial infarct; congestive heart failure; peripheral vascular disease; dementia;
cerebrovascular disease; chronic lung disease; connective tissue disease; ulcer; chronic liver disease
2 Hemiplegia; moderate or severe kidney disease; diabetes; diabetes with complication; tumor;
leukemiz; lymphoma
3 Moderate or severe liver disease
Malignant tumor; metastasis; AIDS
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